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Question Number : 1 Question Id : 2062051421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The WWW stands for:
Options:

1 % World Wide Welfare

> % Wide Web Welfare
=z % World Widest Web

4 « World Wide Web

Question Number : 1 Question Id : 2062051421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 2 Question Id : 2062051422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The speed of Internet is measured in:

Options:
; % RAM

-  Kbps, Mbps, or Gbps
= % MHz

4 w Megabytes

Question Number : 2 Question Id : 2062051422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 3 Question Id : 2062051423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is a secondary storage device?

Options:
1 « Hard Disk

> % SRAM
- % DRAM

4 % OMR

Question Number : 3 Question Id : 2062051423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 4 Question Id : 2062051424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

During data processing, the actual execution of the instructions takes place in the:
Options:

, » Output unit



- % Control unit
= % Hard disk

4  Arithmetic and Logic Unit

Question Number : 4 Question Id : 2062051424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 5 Question Id : 2062051425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following features of MS-Powerpoint can be used to create a presentation from the scratch?

Options:
1 « Auto content wizard

» % Design templates

- % Sample presentation

, % Template presentation

Question Number : 5 Question Id : 2062051425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 6 Question Id : 2062051426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
15 thee sereen background and main area of the window where you can open and manage files and programs.

Options:
1 % Icons

-  Desktop
5 # Application window

4 % Screen saver

Question Number : 6 Question Id : 2062051426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 7 Question Id : 2062051427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Exchange of images or data from one application to another is done by using
Options:

1 % Icons

- u Control panel



5 Clipboard

4 w Clip Art

Question Number : 7 Question Id : 2062051427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 8 Question Id : 2062051428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
is NOT a tool for analysing spreadsheet data.

Options:

; w» What-If analysis

o  Mail-Merge
= % Goal Seek

4 % Sorting

Question Number : 8 Question Id : 2062051428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 9 Question Id : 2062051429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The division arithmetic operator is represented by which of the following symbols?

Options:
1 ® A

>

Question Number : 9 Question Id : 2062051429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 10 Question Id : 2062051430 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following can be selected by pressing the F8 key three times in MS-Word?

Options:
1 #® A word
- « A sentence

5 % A paragraph

4 % Entire document

Question Number : 10 Question Id : 2062051430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Question Number : 11 Question Id : 2062051431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In MS-Word, what is the smallest and the largest font size available in the font size drop-down list?

Options:
1 « 8and 72

> % 8and 64
z #% 12and 72

4 % 36and 72

Question Number : 11 Question Id : 2062051431 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

L 8 3T 72
. = 8 3T 64
- x 12 3T 72

4« 36 3k 72

Question Number : 12 Question Id : 2062051432 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A printer’s image quality is usually measured in:

Options:



, w Characters per second

- u Pages per minute

5  Dots per inch

4 % Pixels

Question Number : 12 Question Id : 2062051432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 13 Question Id : 2062051433 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

In an empty worksheet. the usage of
=ROUND(AVERAGE(G5:G12).0) will yield
Options:

| % Average of range G5:G12

- u Rounding of range G5:G12
= o Error

, w First, averaging of range G5:G12 followed by rounding to the nearest decimal place

Question Number : 13 Question Id : 2062051433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 14 Question Id : 2062051434 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is true for half-duplex data transmission?

Options:
, % Data can be transmitted in one direction only

- % Data cannot be transmitted in both directions

- » Data can be transmitted in both directions simultaneously

4 « Data can be transmitted in both directions, but only in one direction at a time

Question Number : 14 Question Id : 2062051434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 15 Question Id : 2062051435 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following Network and Transport layer protocols are commonly used on the Internet?

Options:



1 #® TCPand HTTP
> # RIP and NLSP
3 « TCPand IP

4 % TCP and UDP

Question Number : 15 Question Id : 2062051435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

» ST (TCP) 3f v=&rdrdy (HTTP)
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, » IR (RIP) 3R woAvereadr (NLSP)
2 » ST (TCP) 3R ¥ (IP)

, » ST (TCP) 3 7@ (UDP)

Question Number : 16 Question Id : 2062051436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The layer of the ISO-OSI reference model resolves problems of damaged. lost or duplicate frames?

Options:
1 « Data Link

> % Application
o % Transport

4 % Physical

Question Number : 16 Question Id : 2062051436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 17 Question Id : 2062051437 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Telephone networks usually make use of which of the following transmissions?

Options:

, w Simplex transmission

- » Half-duplex transmission

= % Wireless transmission

4 « Full-duplex transmission

Question Number : 17 Question Id : 2062051437 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 18 Question Id : 2062051438 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is used to transfer files on Internet?

Options:
i % HTTP

> % ASCII



3.« FIP

4 % UDP

Question Number : 18 Question Id : 2062051438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 19 Question Id : 2062051439 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What was the name of the very first electronic digital computer?
Options:

1 Atanasoff-Berry Computer

5 % Von Neumann Computer

s # ABACUS

4 % UNIVACI

Question Number : 19 Question Id : 2062051439 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 20 Question Id : 2062051440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In MS-Word, the function kev F12 opens which of the following?

Options:
| « Save Asdialog box

-~ % Open dialog box
- % Print dialog box

4 » Close dialog box

Question Number : 20 Question Id : 2062051440 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 21 Question Id : 2062051441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Press in MS-Word to perform “Redo™ operation?
Options:

1 % Ctrl+U

> % Cirl+R

3 ¢ Citl+Y

4 2 Chl+7



Question Number : 21 Question Id : 2062051441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

L% Ctrl+ U

, « Ctrl + R
2w Ctrl + Y

L% Ctrl+Z

Question Number : 22 Question Id : 2062051442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In MS-Excel. numeric values are preceded with character to treat them as labels?

Options:
| « Apostrophe ()

> w Exclamation (!)
5 w Hash (#)

, » Tilde (=)

Question Number : 22 Question Id : 2062051442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| » FUIETHT ()
, » TFEFAHYA (1)

.« &7 (#)

« B3 ()

Question Number : 23 Question Id : 2062051443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

Which of the following produces output by pressing a print element and an inked ribhon against the face of continuous
paper form?

Options:
| « lmpact printer

S ® Scanner
- % Non-impact printer

4 ® Laser printer

Question Number : 23 Question Id : 2062051443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 24 Question Id : 2062051444 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘Which of the following typically identifies the type of a file?

Options:
1 %= Folder
> % Path

= « File Extension

4 % Filename

Question Number : 24 Question Id : 2062051444 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 25 Question Id : 2062051445 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following functions is used to count the number of cells in a cell range that contains numbers?

Options:
1 % Len

> % Sum
= « Count

4 % Counta

Question Number : 25 Question Id : 2062051445 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

feaaTET & O Fi9 Or B9 TEIHT 56 v O 15 O O 0§ OEgr &7 T F1e & T 39T
foraT =TT &

Options:

. o (Len)

1,

5 % HH (Sum)
5  @3uc (Count)

, » @3vel (Counta)

Question Number : 26 Question Id : 2062051446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is an email address?

Options:



, % httpi//vianet.com/index.htm
> % D://Email\Standard

. men
-  Joesmart@billme.com

4 % Chaminade.org/teachers/mail addresses

Question Number : 26 Question Id : 2062051446 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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, = hitp://vianet.com/index.htm

- # D:/Email\Standard

5  Joesmart@billme.com

4 % Chaminade.org/teachers/mail addresses

Question Number : 27 Question Id : 2062051447 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Accessing another person’s computer to steal or destroy crucial data or information is known as

Options:
, « hacking

-~ » cracking
= % backdoor attack

4 ® DPassword-guessing attack

Question Number : 27 Question Id : 2062051447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 28 Question Id : 2062051448 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In MS-Word. a table with 5 rows and 7 columns will have maximum cells.
Options:

1 ® 5

Question Number : 28 Question Id : 2062051448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 29 Question Id : 2062051449 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
DBMS stands for:
Options:

1 Database Management System

5 #® Domain Management System



s ® Database Management Server

4 ®» Domain Management Style

Question Number : 29 Question Id : 2062051449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
gefrTATE (DBMS) &1 0T &9 gl

Options:

1;33@?2&???3&?%@

Question Number : 30 Question Id : 2062051450 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is a storage device?

Options:
, % CPU

- » Keyboard
3 « Hard Disk

4 % Monitor

Question Number : 30 Question Id : 2062051450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 31 Question Id : 2062051451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
is mainly used for computer games and ultrasound scanners in hospitals.

Options:
1 % Scanner
o o Joystick

= % Printer

4 % Mouse

Question Number : 31 Question Id : 2062051451 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 32 Question Id : 2062051452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following tools can be used to insert page number in a document?

Options:

|« Page number from Insert menu

- u Page Setup from file menu

= % Footnote from File menu

4 % Pagenumber from File menu



Question Number : 32 Question Id : 2062051452 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 33 Question Id : 2062051453 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
On selecting a graphic, eight small markers appearing around it are called:

Options:
1 % Pointers

-~ % DBars

5  Sizing handles

4 % Pivotal

Question Number : 33 Question Id : 2062051453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 34 Question Id : 2062051454 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following computer languages is most appropriate for commercial purpose?

Options:
1 % Fortran

> % BASIC
- v COBOL

4 % Pascal

Question Number : 34 Question Id : 2062051454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 35 Question Id : 2062051455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Each component of a computer is either

Options:
1 + Hardware or software

> w Software or memory device
5 = Application or system software

4 » Inputdevice or output device

Question Number : 35 Question Id : 2062051455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 36 Question Id : 2062051456 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A is a set of rules used by the end points of a telecommunication system.

Options:
1 # Resource locator
> #% Domain

Hypertext

4 « Protocol

Question Number : 36 Question Id : 2062051456 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

TFH TF THEAR Joelr & Hiean fawgaft gamr 39T g a3 fagst &1 vs w9 2

Options:

1 ® ﬁ?ﬁl’m
g_ﬁm
. x BERCFT

4 v QIS

Question Number : 37 Question Id : 2062051457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In a spreadsheet program. which of the following contains related worksheets?

Options:
1 « Workbook



> % Column
z # Cell

4 % Address bar

Question Number : 37 Question Id : 2062051457 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 38 Question Id : 2062051458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How do you save a presentation under a new file name?

Options:
1 « Select the file menu and choose Save as

> % When you close Power Point, the file will automatically be saved

= % Select the file menu and choose Save

4 % The file will automatically be saved under the new name if you change the title

Question Number : 38 Question Id : 2062051458 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 39 Question Id : 2062051459 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which of the following is NOT an input device?
Options:

, » Microphone

-~ % Mouse
= ® Scanner

4 « Plotter

Question Number : 39 Question Id : 2062051459 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

4. v el

Question Number : 40 Question Id : 2062051460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is displayed when the Excel formula =ROUND(2.15.1) is entered in a cell?
Options:

1 ® 2

| ]
[a—y

o W



4 ® 2.3

Question Number : 40 Question Id : 2062051460 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1%-52

Question Number : 41 Question Id : 2062051461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Depreciation, rates of remun, fiture values and loan payment amounts are calculated using which of the following
categories of Excel functions?

Options:
, » Logical

> % Math & Trigonometry

% % Statistical

4 « Financial

Question Number : 41 Question Id : 2062051461 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 42 Question Id : 2062051462 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A file with the extension *.zip™ indicates:

Options:

1 % a folder

-~ » a backup file
5  @compressed file

4 % aportable file

Question Number : 42 Question Id : 2062051462 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 43 Question Id : 2062051463 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Pie charts can be plotied on:

Options:
, % Multiple data text and formatting

> % Onlytwo series of data
» Only one series of data

3

4 » Exactly eight data series



Question Number : 43 Question Id : 2062051463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 44 Question Id : 2062051464 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is used to refer to an error in a computer program?

Options:
1 % Crash

> % Power failure

SJBug

4 % Virus

Question Number : 44 Question Id : 2062051464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 45 Question Id : 2062051465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which of the following is primarily used to identify unknown viruses by looking for malicious code or variations of
such code?

Options:

1 « Heuristic-based detection

> % File segmentation

5 » Signature-based detection

4 » Encryption-based detection

Question Number : 45 Question Id : 2062051465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 46 Question Id : 2062051466 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In MS-Word. generally which menu is selected to print a document?

Options:
1 « File
> % Tools

5 » Help

4 B Edit

Question Number : 46 Question Id : 2062051466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 47 Question Id : 2062051467 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following file systems provides the highest level of security?

Options:
, % FAT16

> « NTFS
5 % FAT32

4 % FATI2

Question Number : 47 Question Id : 2062051467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. % THT 16 (FAT16)

. v TAUHTH (NTFS)
. » UHTEr 32 (FAT32)

, » THTE 12 (FAT12)

Question Number : 48 Question Id : 2062051468 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which data encryption specification is now used in wireless LAN for security?

Options:



, ®# WEP
> % WAP
s « WPA

4 B AES

Question Number : 48 Question Id : 2062051468 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

., Seegsdr (WEP) &

1.
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Question Number : 49 Question Id : 2062051469 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If the load on the network increases, it leads to:

Options:
1 # Hardware failure

> # Software failure

5  Congestion problem

4 w Portproblem

Question Number : 49 Question Id : 2062051469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 50 Question Id : 2062051470 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which connecting network device is smart enough to pick the right path for communications traffic?

Options:
1 # Modem

> « Router
= % Switch

4 % Hub

Question Number : 50 Question Id : 2062051470 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 51 Question Id : 2062051471 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the significance of a faded (dimmed) command in a pull-down menu?
Options:

. + The command is not currently accessible

- % A dialog box appears if the command is selected



5 % A help window appears if the command is selected

4 w There are no equivalent keystrokes for the particular command

Question Number : 51 Question Id : 2062051471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 52 Question Id : 2062051472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the key combination to close the selected workbook window in MS-Excel?

Options:
. ®% SHIFT +F2

>  CIRL+W
s % ALT+ENTER

4 % CTIRL +SHIFT +U

Question Number : 52 Question Id : 2062051472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| % SHIFT + F2

, ¢ CTRL + W

- # ALT + ENTER



. % CTRL + SHIFT + U
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Read the passage given below and answer the questions that
follow by marking the most appropriate option out of the
four given after each question.

A strange event happened on Thursday. A Nilgai gave a tough
time to the police and officials of the forest department who took
several hours to safely take the animal to Asola Bhatti Wildlife
Sanctuary.

Early in the morning the Nilgai entered Delhi’s most protected
zone, Vijay Chowk. Senior officials spotted it going towards the
Parliament House.

The animal could be caught only after hours of struggle. The
NGO. Wildlife SOS. had also deployed its 10-member team to
rescue the animal. “The Nilgai has been successfully rescued by
#Wildlife SOS from #Vijay Chowk.” the NGO tweeted after the
rescue work was over. It is believed to have strayed from a
forest area behind the President’s Estate. Initially a group of
policemen rushed to remove the animal before VIP convoys of
ministers and top officers started moving into the area.

The blue bull was seen running around the lawns as a PCR van
was entrusted with the task of chasing it towards that zone.
While the van was about to take a sharp turn. the Nilgai
suddenly ran towards it and hit the vehicle on the driver’s side.

The impact led to a broken window glass and also caused injury
to the Nilgai’s leg.

The police team also made a human chain bordering the lawn to
ensure that the Nilgai didn’t run towards the road again. Soon
thereafter the traffic police also joined the Nilgai operation and
the area was cordoned off. The incident also caused traffic snarls
in the area which lasted for around an hour.

Finally the forest department officials rescued the animal and
explained that they had to be careful as the Nilgai has a “very
delicate heart” and cannot be chased back to the forest and “had
to be rescued.”

A forest department officer further said that the department is
yet to ascertain her age and whether the animal is pregnant or
not. According to the forest department. it received a call about
the presence of the animal in the VVIP zone around 10 AM
following which teams were rushed to the spot.

Sub questions



Question Number : 53 Question Id : 2062051474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Nilgai was first seen at:
Options:

|« Vijay Chowk

> % The Parliament House
- % The President’s Estate

4 % AsolaBhatti Wildlife Sanctuary

Question Number : 54 Question Id : 2062051475 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
From the facts stated in the passage one may
infer that the Nilgai was:
Options:
, w ababy Nilgai

- % @amale Nilgai

- @ female Nilgai

4 » gender not known

Question Number : 55 Question Id : 2062051476 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The incident described in the passage took place
at /in the:
Options:
| morning

5 % 1noon

5 ® evening

4 % night

Question Number : 56 Question Id : 2062051477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Probably, the Nilgai had come from:

Options:
1 # the Aravalli hills.

> « the forest area behind the President’s Estate.

- % anearby zoo.

4, % the Asola Bhatti wildlife sanctuary.

Question Number : 57 Question Id : 2062051478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
They did not chase the Nilgai back to the
place from where it had come because:

Options:
, % they wanted to take it to the Wildlife Sanctuary.

> % there was arisk that it might run away.

- » they wanted to keep it as a valuable possession.

4  the Nilgai has a very delicate heart.

Question Id : 2062051473 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
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Sub questions

Question Number : 53 Question Id : 2062051474 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 54 Question Id : 2062051475 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 55 Question Id : 2062051476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 56 Question Id : 2062051477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 57 Question Id : 2062051478 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Section Id : 206205216
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes

Group All Questions: No



Sub-Section Number: 1
Sub-Section 1d: 206205216
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 2062051479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Sinu invested 10% more than Mona. Mona invested 10%6 less than Raghu. If the total sum of their investments is
T 5,780, what amount did Raghu invest?

Options:
, % 32,010

5 o 2,000
2 % $2,100

4 B < 2,210

Question Number : 58 Question Id : 2062051479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
" & A 7 10% 0w e T A/ 1g @ 10% w9 TR R oafe A F g e &
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Options:

% 2,010
. » £2,000
- » £2,100

4% T2210

Question Number : 59 Question Id : 2062051480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the following number series. one number has been included wrongly. Find out the wrong number.

13, 25; 49, 57; 79 103, 130
Options:
1 ® 25

o B 40



4 ® 70

Question Number : 59 Question Id : 2062051480 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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13, 25, 40, 57, 79, 103, 130
Options:

1 ® 25
> R 40
3« 957

g 79

Question Number : 60 Question Id : 2062051481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A certain sum of money is divided among B, Q and R in the ratio of 3 : 5 : 7 respectively. If R receives € 4,000 more
than the amount received by Q, find the total amount received by P and @ together?

Options:

, % T8.000

- % T12.000
2 & 16,000

4 % Cannot be determined

Question Number : 60 Question Id : 2062051481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
. % 8,000
, « ¥12,000

. » 16,000
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Question Number : 61 Question Id : 2062051482 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the value that should come in place of the question mark (?) in the following series to complete it correctly.

620 632 608 644 596 7
Options:
| % 536

5 % 556
5 & 656

4 % 646

Question Number : 61 Question Id : 2062051482 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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620 632 608 644 596 ?
Options:

, % 536
. % 556
- » 656

. % B4B

Question Number : 62 Question Id : 2062051483 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the approximate value that should replace the question mark (?) to solve the following equation correctly.
(You are not expected to calculate the exact value.)

473496 — 345403 — 161286 ="7—-1611.43
Options:
1 v 1280

> % 2290



2 % 1020

4 % 18150

Question Number : 62 Question Id : 2062051483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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4734 86 — 3454.03 — 161286 = 7 — 1611.43
Options:

v 1280
. % 2290
5 % 1020

., = 18150

Question Number : 63 Question Id : 2062051484 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

An organisation distributes its profits among its officers and clerks in the ratio of 5 ; 3. The number of officers in the
organization is 45 and the number of clerks iz 80. If each officer received an amount of T 25000, what is the fotal
amount of profit earned by the otzanization?

Options:
, % ¥22lakh

> % T18.25 lakh
s « T18lakh

4 % T23.25lakh

Question Number : 63 Question Id : 2062051484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Section Id : 206205217

Section Number : 4

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 206205217
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 2062051485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that is related to the third term in the same way as the second term is related to the first term.

Novice : Learner ; : Harbinger : ?
Options:

|« Messenger
> % Thief

5 u Pickpocket

4 % Robber
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Question Number : 65 Question Id : 2062051486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that is related to the third term in the same way as the second term is related to the first term.

Sikkim : Gangtok : : Manipur : ?
Options:
, = Dispur

- u Cherrapunji
5 » Shillong

4  lmphal
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Select the option that best describes the three following terms.
Vinci : Angelo : Raphael
Options:

, w They were Italian engineers.

-  They were European painters.

5 w They were dictators.

4 % They were famous politicians.
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Question Number : 67 Question Id : 2062051488 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Select the option that best describes the three following terms.

Analects : Zend Avesta : Torah
Options:

, = These are places of worship.

> # These are three sects of Islam.

- % [Ihese are names of religions.

4  These are names of religious books.
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that is related to the third term in the same way as the second term is related to the first term.

2] #3577
Options:
1 ® 23

o 82

4 % 113
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Question Number : 69 Question Id : 2062051490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A shepherd had 17 cows. All but nine of them died. How many cows are still alive?

Options:
1 ® 0

2 ¢ 9

4 ® 17
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Question Number : 70 Question Id : 2062051491 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The acronym ISDN stands for:

Options:
, w Indian Standard Digital Network

-  Integrated Services Digital Network

- » Intelligent Services Digital Network

, » Integrated Services Data Network
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Question Number : 71 Question Id : 2062051492 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Sugathakumari was conferred the ‘Saraswati Samman 2012" for her collection of poems in which language?
Options:
, = Telugu

>  Malayalam

- % Kannada

4 % Tamil
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Question Number : 72 Question Id : 2062051493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who among the following cricketers was the recipient of the Rajiv Gandhi Khel Ratna Award in 20077

Options:
1 % Sachin Tendulkar

> % Saurav Ganguly

% « MLS. Dhoni

4 % Virender Sehwag
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Question Number : 73 Question Id : 2062051494 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Prof. Amartya Sen was awarded the Nobel Prize for his work in which of the following fields/areas?

Options:



1 + Economics
> u Geology
5 » Biochemistry

4 w Astrophysics
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Question Number : 74 Question Id : 2062051495 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘Saint of the gutters’ is a title associated with:

Options:
1 # B.R. Ambedkar

> « Mother Teresa
% % Mahatma Gandhi

4 % Baba Amte

Question Number : 74 Question Id : 2062051495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 75 Question Id : 2062051496 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following systems holds the oldest rock formation in India?

Options:
, w Aravalli System

o o Archean System

- » Cuddapath System

4 % Vvindhyan System
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Question Number : 76 Question Id : 2062051497 Question Type: TYPING TEST Display Question Number : Yes
Wormens History Month is an annual declared month that is traditionally held in March, but the study of
woITens history is valuable all twelve months of the yvear. Women hawve overcorme daunting odds to succeed
and excel in all areas of human endeavor, including science, manufacturing, athletics, business, and
exploration.
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Question Number : 77 Question Id : 2062051498 Question Type: TYPING TEST Display Question Number : Yes

The Indian Air Force was created on paper on 8th Oct, 1922 by the Indian Air Force Act of 1932 and on that
fateful dav six Indian officers were granted the Kings Cormrmnission. The [AF actually took to Wings on 01 Apr,
1932 when it was equipped with four Wapiti aircraft. This token force of four Wapiti aircraft marked an
important milestone, signifying the entry of Indians into the technologically savyy third dimension of warfare.
Its strength of four Wapiti aircraft remained the same for the next four vears, increasing to five in 1936 and,
thereafter, remaining at five till 1940, During the Eritish rule, the British visualization of threat to India was
from the MNorth West, possibly Russia and marauding attacks by the warring tribes in Afghanistan. For this
purpose they deplowed the RAF in India, varying in strength between 6 to 8 squadrons in the 19205 and 30s.
As the Japanese struck the allies in Decermber 1941 and rapidly advanced to the doorsteps of India, urgent
need was felt to expand the air forces for the defence of India. During World War II, the IAF which had been so
quickly expanded and cornrmitted at the Burma Front, came out with flying colours. The number of gallantry
awards bear testimony to the fact. Moreower, while still flying aircraft which were decidedly inferior to all the
Japanese aircraft, the [AF squadron suffered very low attrition to enemy aircraft. In 1962, India having
suffered a crushing defeat by the Chinese army, and expecting ancother attack in 1963, sought military
assistance from the UK. The Eritish Chiefs of Staff Cormmittes recormmended a force of five squadrons of
Canberra bombers, together with logistics and air deferice support in the hope that a clearly demonstrated
ability and offer to intervene with such a force would have some deterrent effect on the Chinese. Sirmilarly,
whern India sought military help from the US4, the TS was rnot willing to supply the Mach 2 Star fighter F104
which the IAF had short listed. However, in the 19505 a decision was taken to initiate diversification of supply
sources and an order for 100 Ouragans was placed with France. In 1957 significant inductions were made the
French Mystere IVAS, the British Hunter FME 565, Canberra Bl) Mk53s and little later the Gnats a light weight
fighter. This raised the force level to 32 Squadron. For now The [AF has over 60 air bases all over India,
grouped into 7 comrnands. The Western Air Cormurnand is the largest with 16 air bases and the Central Air
Cormrmand is the smallest with 7 air bases. The [AF also has a base outside India ie. in Farkhor in Tajikistan. It
is Indias first and only military base cutside the country.
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